## Turkish Journal of Mathematics

http://journals.tubitak.gov.tr/math/

Turk J Math
(2023) 47: $830-845$
© TÜBİTAK
doi:10.55730/1300-0098.3396

# Generating functions for reciprocal Catalan-type sums: approach to linear differentiation equation and ( $p$-adic) integral equations 

Damla GÜN©, Yılmaz ŞİMŞEK* ${ }^{\text {© }}$<br>Department of Mathematics, Faculty of Science, Akdeniz University, Antalya, Turkey

| Received: 06.08 .2022 | Accepted/Published Online: 17.02 .2023 | Final Version: 09.03 .2023 |
| :--- | :--- | :--- | :--- |


#### Abstract

This article is inspired by the reciprocal Catalan sums associated with problem 11765, proposed by David Beckwith and Sag Harbor. For this reason, partial derivative equations, the first-order linear differentiation equation and integral representations for series and generating functions for reciprocal Catalan-type sums containing the Catalantype numbers are constructed. Some special values of these series and generating functions, which are given solutions of problem 11765, are found. Partial derivative equations of the generating function for the Catalan-type numbers are given. By using these equations, recurrence relations and derivative formulas involving these numbers are found. Finally, applying the $p$-adic Volkenborn integral to the Catalan-type polynomials, some combinatorial sums and identities involving the Bernoulli numbers, the Stirling numbers and the Catalan-type numbers are derived.


Key words: Generating functions, reciprocal Catalan-type sums, derivative operator, Bernoulli numbers and polynomials, Stirling numbers, Catalan numbers

## 1. Introduction

It has been seen in recent years that not only generating functions, but also the numbers and polynomials produced by them are used in many different disciplines, especially mathematics [1-31]. In this paper, we investigate some families of generating functions including the Bernoulli numbers and polynomials of higher order, the Stirling numbers, and the Catalan numbers. Using generating functions with their functional equations, gamma and beta functions, we give some identities and relations including the Bernoulli numbers of higher order, the Stirling numbers, and the Catalan numbers. We give integral representations for these numbers. We also give some inequalities including binomial coefficients, the Bernoulli numbers of negative higher order, the Stirling numbers, and the Catalan numbers.

In this paper, the following definitions, relations, and notations can be used.
The Stirling numbers of the first kind are given by

$$
u_{(a)}=\sum_{s=0}^{a} S_{1}(a, s) u^{s}
$$

where

$$
u_{(a)}=\left\{\begin{array}{cc}
u(u-1) \ldots(u-a+1), & a \in \mathbb{N} \\
1, & a=0
\end{array}\right.
$$

[^0][29, p. 76 , Eq. (1)].
The Catalan numbers $C_{n}$ are defined by means of the following ordinary generating function:
\[

$$
\begin{equation*}
C(t)=\frac{1-\sqrt{1-4 t}}{2 t}=\sum_{n=0}^{\infty} C_{n} t^{n} \tag{1.1}
\end{equation*}
$$

\]

where $0<|t| \leq \frac{1}{4}[1,22,26,29,30]$.
By using (1.1), for $n \in \mathbb{N}_{0}=\mathbb{N} \cup\{0\}$, we have

$$
\begin{equation*}
C_{n}=\frac{1}{n+1}\binom{2 n}{n} \tag{1.2}
\end{equation*}
$$

and

$$
\begin{equation*}
(n+2) C_{n+1}=2(2 n+1) C_{n} \tag{1.3}
\end{equation*}
$$

where $C_{0}=1$ (see, for details, $[22,26,29,30]$ ).
Using the above formula for the Catalan numbers, the first eight values of these numbers are given by

$$
C_{0}=1, \quad C_{1}=1, \quad C_{2}=2, \quad C_{3}=5, \quad C_{4}=14, \quad C_{5}=42, \quad C_{6}=132, \quad C_{7}=429
$$

and so on.

Remark 1.1 The Catalan numbers appear in various mathematical areas and and combinatorial problems. The numbers $C_{n}$ are also related to the following problems: the binary bracketings of $n$ letters, the solution to the Ballot problem, the number of trivalent planted planar trees, the number of states possible in an $n$-flexagon, the number of different diagonals possible in a frieze pattern with $n+1$ rows, the number of Dyck paths with $n$ strokes, the number of ways of forming an $n$-fold exponential, the number of rooted plane bushes with $n$ graph edges, and the number of extended binary trees with $n$ internal nodes $[3,4,8,9,15-17,21-23,30]$. Recently, Kim et al. gave relations between the Catalan numbers and the degenerate Whitney numbers associated with the Dowling lattice, which is the geometric lattice of flats associated with a Dowling geometry [8, 9, 15-17, 23].

In [21, eqs. (2.1) and (2.4)], Kucukoglu et al. constructed the following generating functions for new classes of Catalan-type numbers and polynomials, respectively:

$$
\begin{equation*}
F_{v}(t, \lambda)=\frac{1-\lambda+\sqrt{(\lambda-1)^{2}+8 \lambda^{2} t}}{2 \lambda^{2} t}=\sum_{n=0}^{\infty} V_{n}(\lambda) t^{n} \tag{1.4}
\end{equation*}
$$

where

$$
0<\left|\frac{\lambda^{2} t}{(\lambda-1)^{2}}\right| \leq \frac{1}{8}
$$

and

$$
\begin{equation*}
F_{v}(t, x ; \lambda)=F_{v}(t, \lambda)(1+t)^{\frac{x}{2}}=\sum_{n=0}^{\infty} V_{n}(x ; \lambda) t^{n} \tag{1.5}
\end{equation*}
$$

By using (1.4), we have

$$
\begin{equation*}
V_{n}(\lambda)=(-1)^{n} C_{n} \frac{2^{n+1} \lambda^{2 n}}{(\lambda-1)^{2 n+1}} \tag{1.6}
\end{equation*}
$$

(see [21, eq. (2.2)] and also [20]).
Putting $n=0$ in (1.6), we have

$$
V_{0}(\lambda)=\frac{2}{\lambda-1}
$$

A relation between the numbers $C_{n}$ and $V_{n}(\lambda)$ is given as follows:

$$
C_{n}=\frac{(-1)^{n}(\lambda-1)^{2 n+1} V_{n}(\lambda)}{2^{n+1} \lambda^{2 n}}
$$

[21, eq. (2.2)].
In order to give generating function for the reciprocal of the new classes of Catalan-type number, we also need the following novel formula

$$
\begin{equation*}
\frac{V_{n+1}(\lambda)}{V_{n}(\lambda)}=-\frac{8 n+4}{n+2}\left(\frac{\lambda}{\lambda-1}\right)^{2} \tag{1.7}
\end{equation*}
$$

[21, Eqs. (2.1) and (2.4)].

## 2. Generating function for reciprocal of the Catalan-type numbers

In this section, using not only the partial derivative operator $\frac{\partial}{\partial z}$, and the first-order linear differentiation equation, but also the Euler gamma function and the beta function, we construct generating functions for the reciprocal of the Catalan-type numbers $V_{n}(\lambda)$.

We think that there are other methods, which are used to prove other formulas for the generating functions of the reciprocal of the Catalan-type numbers. Using similar methods associated with Abel [5, problem 11765] and Amdeberhan et al. [1], some novel formulas and relations are given.

We give special values of the first-order linear differentiation equation arising from the generating function for reciprocal of the Catalan-type numbers $V_{n}(\lambda)$.

We define a generating function for the reciprocal of the Catalan-type numbers as follows:

$$
\begin{equation*}
G(z, \lambda)=\sum_{n=0}^{\infty} \frac{z^{n}}{V_{n}(\lambda)} \tag{2.1}
\end{equation*}
$$

In order to give a set of converges for the above series, we use the ratio test. Thus, we have

$$
\lim _{n \rightarrow \infty}\left|\frac{z^{n+1}}{V_{n+1}(\lambda)}\right|\left|\frac{V_{n}(\lambda)}{z^{n}}\right| .
$$

Combining the above equation with (1.7), after some elementary calculations, for $\lambda \neq 1$, we get

$$
|z|<8\left|\frac{\lambda}{\lambda-1}\right|^{2}
$$

By the following theorem, we give an explicit formula for the function $G(z, \lambda)$. Firstly, we introduce the following well-known the Gauss's hypergeometric series:

$$
{ }_{2} F_{1}(x, y ; t ; z)=\sum_{n=0}^{\infty} \frac{x^{(n)} y^{(n)}}{t^{(n)}} \frac{z^{n}}{n!}
$$

where $t \notin\{0,-1,-2,-3, \ldots\}$ and $x^{(n)}=x(x+1) \ldots(x+n-1)$. When $|z|=1$, the hypergeometric series in the above equation satisfies the following conditions:

1) Absolutely convergent, if $\operatorname{Re}(t-x-y)>0$,
2) Conditionally convergent, if $-1<\operatorname{Re}(t-x-y) \leq 0$ and $z \neq 1$,
3) Divergent, if $\operatorname{Re}(t-x-y) \leq-1$.

It is clear that for $|z|<1$,

$$
{ }_{2} F_{1}(x, 1 ; x ; z)={ }_{2} F_{1}(1, y ; y ; z)=\frac{1}{1-z}
$$

[29, p. 64].
For $t \notin\{0,-1,-2,-3, \ldots\}$, arbitrary constants $\beta$ and $\eta$, the function

$$
u=\beta_{2} F_{1}(x, y ; t ; z)+z^{1-t} \eta_{2} F_{1}(x-t+1, y-t+1 ; 2-t ; z) .
$$

is a solution of the following second-order linear ordinary differential equation, which is also called the Gauss hypergeometric equation:

$$
\{\vartheta(\vartheta+t-1)-z(\vartheta+x)(\vartheta+y)\} u=0
$$

where $x, y$, and $t$ are real or complex parameters and $\vartheta$ denotes following the well-known Euler operator:

$$
\vartheta:=z \frac{d}{d z}
$$

[29, p. 63].

Theorem 2.1 Let $\lambda \neq 1,0$. Then we have

$$
\begin{equation*}
G(z, \lambda)=-\frac{32 \sqrt{2}(\lambda-1)^{3}\left(\frac{z \lambda^{2}}{8(\lambda-1)^{2}}\right)^{\frac{3}{2 \lambda}}}{\sqrt{z} \lambda^{2}(\lambda-3)}{ }_{2} F_{1}\left(\frac{3-\lambda}{2 \lambda}, \frac{3-3 \lambda}{2 \lambda} ; \frac{3+\lambda}{2 \lambda} ;-\frac{z}{8}\left(\frac{\lambda}{\lambda-1}\right)^{2}\right) \tag{2.2}
\end{equation*}
$$

Proof By using (1.7), we get

$$
\frac{1}{V_{n}(\lambda)}=-\frac{4 \lambda^{2}(2 n+1)}{(\lambda-1)^{2}(n+2)} \frac{1}{V_{n+1}(\lambda)}
$$

Combining the above equation with (2.1), we obtain

$$
G(z, \lambda)=\sum_{n=0}^{\infty} \frac{z^{n}}{V_{n}(\lambda)}=-\frac{4 \lambda^{2}}{(\lambda-1)^{2}} \sum_{n=0}^{\infty}\left(2-\frac{3}{(n+2)}\right) \frac{z^{n}}{V_{n+1}(\lambda)}
$$

After some elementary calculations, we have

$$
G(z, \lambda)=-\frac{4 \lambda^{2}}{(\lambda-1)^{2}}\left(\frac{2}{z} G(z, \lambda)-\frac{2}{z V_{0}(\lambda)}-\frac{3}{z} \sum_{n=1}^{\infty} \frac{z^{n}}{(n+1) V_{n}(\lambda)}\right) .
$$

Substituting

$$
V_{0}(\lambda)=\frac{2}{\lambda-1}
$$

into the above equation, we get

$$
\begin{equation*}
\left(\frac{z^{2}}{3}\left(\frac{\lambda-1}{2 \lambda}\right)^{2}+\frac{2}{3} z\right) G(z, \lambda)-\frac{(\lambda-1) z}{3}=\sum_{n=1}^{\infty} \frac{z^{n+1}}{(n+1) V_{n}(\lambda)} \tag{2.3}
\end{equation*}
$$

Applying partial derivative operator $\frac{\partial}{\partial z}$ to the above equation, we obtain

$$
\left(\frac{2 z}{3}\left(\frac{\lambda-1}{2 \lambda}\right)^{2}+\frac{2}{3}\right) G(z, \lambda)+\left(\frac{z^{2}}{3}\left(\frac{\lambda-1}{2 \lambda}\right)^{2}+\frac{2}{3} z\right) \frac{\partial}{\partial z}\{G(z, \lambda)\}+\frac{(\lambda-1)}{6}=G(z, \lambda)
$$

Therefore,

$$
\begin{equation*}
2\left(z\left(\frac{\lambda-1}{\lambda}\right)^{2}-2\right) G(z, \lambda)+\left(z^{2}\left(\frac{\lambda-1}{\lambda}\right)^{2}+8 z\right) \frac{\partial}{\partial z}\{G(z, \lambda)\}=2(1-\lambda) . \tag{2.4}
\end{equation*}
$$

After some elementary calculations in Equation (2.4), we obtain the following standard form of the first-order linear differentiation equation:

$$
\begin{equation*}
\frac{\partial}{\partial z}\{G(z, \lambda)\}+\frac{2\left(z\left(\frac{\lambda-1}{\lambda}\right)^{2}-2\right)}{z^{2}\left(\frac{\lambda-1}{\lambda}\right)^{2}+8 z} G(z, \lambda)=\frac{2(1-\lambda)}{z^{2}\left(\frac{\lambda-1}{\lambda}\right)^{2}+8 z} \tag{2.5}
\end{equation*}
$$

In order to solve Equation (2.5), we need the following integrating factor:

$$
\begin{aligned}
u(z, \lambda) & =e^{\int \frac{2\left(z\left(\frac{\lambda-1}{\lambda}\right)^{2}-2\right)}{z^{2}\left(\frac{\lambda-1}{\lambda}\right)^{2}+8 z} d z} \\
& =\left(z^{2}\left(\frac{\lambda-1}{\lambda}\right)^{2}+8 z\right) \frac{\left(\frac{\lambda-1}{\lambda} z+\frac{8 \lambda}{\lambda-1}\right)^{\frac{3}{2}\left(\frac{\lambda-1}{\lambda}\right)}}{\left(\frac{\lambda-1}{\lambda} z\right)^{\frac{3}{2}\left(\frac{\lambda-1}{\lambda}\right)}}
\end{aligned}
$$

Hence, multiplying both sides of the standard form of Equation (2.5) by $u(z, \lambda)$ yields the following separable differential equation:

$$
\frac{\partial}{\partial z}\left\{\left(z^{2}\left(\frac{\lambda-1}{\lambda}\right)^{2}+8 z\right)\left(\frac{\frac{\lambda-1}{\lambda} z+\frac{8 \lambda}{\lambda-1}}{\frac{\lambda-1}{\lambda} z}\right)^{\frac{3}{2}\left(\frac{\lambda-1}{\lambda}\right)} G(z, \lambda)\right\}=\frac{2(1-\lambda)}{\left(\frac{\lambda-1}{\lambda} z\right)^{\frac{3}{2}\left(\frac{\lambda-1}{\lambda}\right)}}\left(\frac{\lambda-1}{\lambda} z+\frac{8 \lambda}{\lambda-1}\right)^{\frac{3}{2}\left(\frac{\lambda-1}{\lambda}\right)}
$$

The general solution to the above equation is given by

$$
\begin{equation*}
G(z, \lambda)\left(z^{2}\left(\frac{\lambda-1}{\lambda}\right)^{2}+8 z\right)\left(\frac{\frac{\lambda-1}{\lambda} z+\frac{8 \lambda}{\lambda-1}}{\frac{\lambda-1}{\lambda} z}\right)^{\frac{3}{2}\left(\frac{\lambda-1}{\lambda}\right)}=2(1-\lambda) \int\left(1+\frac{8}{z}\left(\frac{\lambda}{\lambda-1}\right)^{2}\right)^{\frac{3}{2}\left(\frac{\lambda-1}{\lambda}\right)} d z \tag{2.6}
\end{equation*}
$$

Integrate the right-hand side of the above equation (by parts) with respect to $z$, we arrive at the desired result.

Remark 2.2 Here we note that integrating both sides of (2.1), we get

$$
\int f(z, \lambda) d z=\sum_{n=0}^{\infty} \frac{z^{n+1}}{(n+1) V_{n}(\lambda)}
$$

By applying the "Second Fundamental Theorem of Calculus (Part 2)" to the above equation and using

$$
V_{0}(\lambda)=\frac{2}{\lambda-1}
$$

we also arrive at Equation (2.3).

Remark 2.3 Note that for different values of $\lambda$, the above first-order linear differentiation may be used in many important real-world problems and mathematical models involving fluid flow and other problems. This type of equation can also be used in real-world problems associated with decay and growth involving radioactive decay, compound interest, population growth, etc. Putting $\lambda=1$ in (2.5), we get the following separable differential equation:

$$
\frac{d}{d z}\{G(z, 1)\}-\frac{1}{2 z} G(z, 1)=0
$$

Solution of this equation is given by

$$
G(z, 1)=c \sqrt{z}
$$

where $c$ is a constant. Thus, Equation (2.5) will be potentially used not only to get combinatorial identities but also to contribute to new mathematical models.

We simplify Equation (2.2) as follows:

Corollary 2.4 Let $\lambda \neq 1,0$. Then we have

$$
G(z, \lambda)=-z^{2} \lambda^{3}\left(\frac{8+\lambda(-16+(8+z) \lambda)}{z \lambda^{2}}\right)^{\frac{5}{2}-\frac{3}{2 \lambda}} \cdot \frac{{ }_{2} F_{1}\left(1,2, \frac{3+\lambda}{2 \lambda},-\frac{z}{8}\left(\frac{\lambda}{\lambda-1}\right)^{2}\right)}{4(\lambda-3)(\lambda-1)^{2}}
$$

By using (2.4), we get

$$
2\left(z\left(\frac{\lambda-1}{\lambda}\right)^{2}-2\right) \sum_{n=0}^{\infty} \frac{z^{n}}{V_{n}(\lambda)}+\left(z\left(\frac{\lambda-1}{\lambda}\right)^{2}+8\right) \sum_{n=1}^{\infty} \frac{n z^{n}}{V_{n}(\lambda)}=2(1-\lambda)
$$

After some elementary calculations in the above equation, we have

$$
2(1-\lambda)=2\left(\frac{\lambda-1}{\lambda}\right)^{2} \sum_{n=0}^{\infty} \frac{z^{n+1}}{V_{n}(\lambda)}-4 \sum_{n=0}^{\infty} \frac{z^{n}}{V_{n}(\lambda)}+\left(\frac{\lambda-1}{\lambda}\right)^{2} \sum_{n=1}^{\infty} \frac{n z^{n+1}}{V_{n}(\lambda)}+8 \sum_{n=1}^{\infty} \frac{n z^{n}}{V_{n}(\lambda)}
$$

Therefore,

$$
0=\sum_{n=1}^{\infty}\left(\left(\frac{\lambda-1}{\lambda}\right)^{2} \frac{n+1}{V_{n-1}(\lambda)}+\frac{4(2 n-1)}{V_{n}(\lambda)}\right) z^{n}
$$

The above equation gives another proof of Equation (1.7).

Theorem 2.5 Let $\lambda \neq 1,0$. Then we have

$$
\begin{align*}
\sum_{n=0}^{\infty} \frac{z^{n}}{V_{n}(\lambda)}= & \frac{\lambda-1}{2}-\frac{z(\lambda-1)^{3}\left(z(\lambda-1)^{2}+20 \lambda^{2}\right)}{2\left(z(\lambda-1)^{2}+8 \lambda^{2}\right)^{2}}  \tag{2.7}\\
& +\frac{48 \lambda^{4} z(\lambda-1)^{2} \arctan \left(\frac{\sqrt{z}(\lambda-1)}{\sqrt{-z(\lambda-1)^{2}-8 \lambda^{2}}}\right)}{\sqrt{z}\left(-z(\lambda-1)^{2}-8 \lambda^{2}\right)^{5 / 2}}
\end{align*}
$$

Proof Substituting (1.6) into $\sum_{n=0}^{\infty} \frac{z^{n}}{V_{n}(\lambda)}$, using direct calculation, we have

$$
\begin{aligned}
\sum_{n=0}^{\infty} \frac{z^{n}}{V_{n}(\lambda)} & =\sum_{n=0}^{\infty} \frac{(n+1)(\lambda-1)^{2 n+1}(-z)^{n}}{\binom{2 n}{n} 2^{n+1} \lambda^{2 n}} \\
& =\frac{\lambda-1}{2}+\frac{\lambda-1}{2} \sum_{n=1}^{\infty} \frac{(n+1)(n!)^{2}}{(2 n)!}\left(-\frac{z}{2}\left(\frac{\lambda-1}{\lambda}\right)^{2}\right)^{n}
\end{aligned}
$$

Combining the above equation with the following well-known formula Beta and Euler gamma functions:

$$
\begin{aligned}
\int_{0}^{1} u^{n-1}(1-u)^{n} d u & =B(n, n+1)=\frac{\Gamma(n) \Gamma(n+1)}{\Gamma(2 n+1)} \\
& =\frac{(n-1)!(n)!}{(2 n)!}
\end{aligned}
$$

we obtain

$$
\sum_{n=0}^{\infty} \frac{z^{n}}{V_{n}(\lambda)}=\frac{\lambda-1}{2}+\frac{\lambda-1}{2} \sum_{n=1}^{\infty}\left(n^{2}+n\right)\left(-\frac{z}{2}\left(\frac{\lambda-1}{\lambda}\right)^{2}\right)^{n} \int_{0}^{1} u^{n-1}(1-u)^{n} d u
$$

It is easy to see that a series on the right-hand side is uniformly convergent. So, it is possible to interchange of summation and integration. Thus, we have

$$
\sum_{n=0}^{\infty} \frac{z^{n}}{V_{n}(\lambda)}=\frac{\lambda-1}{2}+\frac{\lambda-1}{2} \int_{0}^{1} \frac{1}{u} \sum_{n=1}^{\infty}\left(n^{2}+n\right)\left(-\frac{z u(1-u)}{2}\left(\frac{\lambda-1}{\lambda}\right)^{2}\right)^{n} d u
$$

Using the following series

$$
\sum_{n=1}^{\infty} n w^{n}=\frac{w}{(1-w)^{2}}
$$

and

$$
\sum_{n=1}^{\infty} n^{2} w^{n}=\frac{w(1+w)}{(1-w)^{3}}
$$

where $|w|<1$, we get

$$
\sum_{n=0}^{\infty} \frac{z^{n}}{V_{n}(\lambda)}=\frac{\lambda-1}{2}\left(1-\int_{0}^{1} \frac{z\left(\frac{\lambda-1}{\lambda}\right)^{2}(1-u)}{\left(1+\frac{z}{2}\left(\frac{\lambda-1}{\lambda}\right)^{2} u(1-u)\right)^{3}} d u\right)
$$

Making some elementary calculations of the above integral, we get

$$
\begin{aligned}
& \int_{0}^{1} \frac{z\left(\frac{\lambda-1}{\lambda}\right)^{2}(1-u)}{\left(1+\frac{z}{2}\left(\frac{\lambda-1}{\lambda}\right)^{2} u(1-u)\right)^{3}} d u \\
= & \frac{z(\lambda-1)^{2}}{\lambda^{2}}\left(\frac{\lambda^{2}\left(z(\lambda-1)^{2}+20 \lambda^{2}\right)}{\left(z(\lambda-1)^{2}+8 \lambda^{2}\right)^{2}}-\frac{96 \lambda^{6} \arctan \left(\frac{\sqrt{z}(\lambda-1)}{\sqrt{-z(\lambda-1)^{2}-8 \lambda^{2}}}\right)}{\sqrt{z}(\lambda-1)\left(-z(\lambda-1)^{2}-8 \lambda^{2}\right)^{5 / 2}}\right) .
\end{aligned}
$$

Therefore,

$$
\sum_{n=0}^{\infty} \frac{z^{n}}{V_{n}(\lambda)}-\frac{\lambda-1}{2}=-\frac{z(\lambda-1)^{3}\left(z(\lambda-1)^{2}+20 \lambda^{2}\right)}{2\left(z(\lambda-1)^{2}+8 \lambda^{2}\right)^{2}}+\frac{48 \lambda^{4} z(\lambda-1)^{2} \arctan \left(\frac{\sqrt{z}(\lambda-1)}{\sqrt{-z(\lambda-1)^{2}-8 \lambda^{2}}}\right)}{\sqrt{z}\left(-z(\lambda-1)^{2}-8 \lambda^{2}\right)^{5 / 2}}
$$

After some elementary calculations, we arrive at the desired result.
We now give some numerical examples.

Example 2.6 Setting $z=-1$ and $\lambda=2$ in (2.7), we have

$$
\sum_{n=0}^{\infty} \frac{(-1)^{n}}{V_{n}(2)}=\sum_{n=0}^{\infty} \frac{n+1}{2^{3 n+1}\binom{2 n}{n}}=\frac{520}{961}+\frac{768 \arctan \left(\frac{1}{\sqrt{31}}\right)}{961 \sqrt{31}}
$$

Example 2.7 Substituting $z=-2\left(\frac{\lambda}{\lambda-1}\right)^{2}$ into (2.7), we get

$$
\sum_{n=0}^{\infty} \frac{(-2)^{n}}{V_{n}(\lambda)}\left(\frac{\lambda}{\lambda-1}\right)^{2 n}=(\lambda-1)\left(1+\frac{8}{3 \sqrt{12}} \arctan \left(\frac{1}{\sqrt{3}}\right)\right)
$$

Therefore,

$$
\sum_{n=0}^{\infty} \frac{(-2)^{n}}{V_{n}(\lambda)}\left(\frac{\lambda}{\lambda-1}\right)^{2 n}=(\lambda-1)\left(1+\frac{2 \pi}{9 \sqrt{3}}\right)
$$

Combining the above equation with (1.6), after some elementary calculations, we arrive at the reciprocal Catalan sum involving

$$
\sum_{n=0}^{\infty} \frac{1}{C_{n}}=2+\frac{4}{9 \sqrt{3}} \pi
$$

and also using the Wolfram Mathematica 12.0, we have the following hypergeometric series representation for $\sum_{n=0}^{\infty} \frac{1}{C_{n}}$ :

$$
\sum_{n=0}^{\infty} \frac{1}{C_{n}}=\sum_{n=0}^{\infty} \frac{1^{(n)} 2^{(n)}}{\left(\frac{1}{2}\right)^{(n)}} \frac{\left(\frac{1}{4}\right)^{(n)}}{n!} \simeq 2,806
$$

Example 2.8 Substituting $z=-\left(\frac{2 \lambda}{\lambda-1}\right)^{2}$ into (2.7), we obtain

$$
\sum_{n=0}^{\infty} \frac{(-1)^{n}}{V_{n}(\lambda)} 4^{n}\left(\frac{\lambda}{\lambda-1}\right)^{2 n}=\frac{\lambda-1}{2}(5+6 \arctan (1))
$$

Combining the above equation with (1.6), after some elementary calculations, we arrive at the reciprocal Catalan sum involving

$$
\begin{equation*}
\sum_{n=0}^{\infty} \frac{2^{n}}{C_{n}}=5+\frac{3 \pi}{2} \tag{2.8}
\end{equation*}
$$

By using the Wolfram Mathematica 12.0, we also have the following series representations for $\sum_{n=0}^{\infty} \frac{2^{n}}{C_{n}}$ :

$$
\begin{aligned}
\sum_{n=0}^{\infty} \frac{2^{n}}{C_{n}} & =5+6 \sum_{n=0}^{\infty} \frac{(-1)^{n}}{1+2 n} \\
& =5+\frac{3}{2} \sum_{n=0}^{\infty}\left(-\frac{1}{4}\right)^{n}\left(\frac{1}{1+2 n}+\frac{2}{1+4 n}+\frac{1}{3+4 n}\right) \\
& \simeq 9,7124
\end{aligned}
$$

Remark 2.9 Equation (2.8) gives solution of problem 11765 (a), which was proposed by David Beckwith, Sag Harbor [5]. The first solution of this problem was given by Abel; for details, see [5]. Problem 11765 was also solved by Amdeberhan et al. [1].

Example 2.10 Substituting $z=-6\left(\frac{\lambda}{\lambda-1}\right)^{2}$ into (2.7), we get

$$
\sum_{n=0}^{\infty} \frac{(-6)^{n}}{V_{n}(\lambda)}\left(\frac{\lambda}{\lambda-1}\right)^{2 n}=\frac{\lambda-1}{2}(22+24 \sqrt{3} \arctan (\sqrt{3}))
$$

Combining the above equation with (1.6), after some elementary calculations, we arrive at the reciprocal Catalan sum involving

$$
\begin{equation*}
\sum_{n=0}^{\infty} \frac{3^{n}}{C_{n}}=22+8 \sqrt{3} \pi \tag{2.9}
\end{equation*}
$$

By using the Wolfram Mathematica 12.0, we have the following hypergeometric series representation for $\sum_{n=0}^{\infty} \frac{3^{n}}{C_{n}}$ :

$$
\sum_{n=0}^{\infty} \frac{3^{n}}{C_{n}}=\sum_{n=0}^{\infty} \frac{1^{(n)} 2^{(n)}}{\left(\frac{1}{2}\right)^{(n)}} \frac{\left(\frac{3}{4}\right)^{(n)}}{n!} \simeq 65,53
$$

Remark 2.11 Equation (2.9) gives solution of problem 11765 (b), which was proposed by David Beckwith, Sag Harbor; for details, see [5]. The first solution of this problem was given by Abel [5], see also [1].

## 3. Identity arising from partial derivative equation of the function $F_{v}(t, \lambda)$

In this section, we give a recurrence relation for the Catalan-type numbers $V_{k}(\lambda)$ and derivative formula for $\frac{d}{d \lambda}\left\{V_{n}(\lambda)\right\}$, using partial derivative equation of the function $F_{v}(t, \lambda)$. Our recurrence relation is different from that of the work of Kucukoglu et al. [19, theorem 3.1].

Theorem 3.1 (Recurrence relations for the numbers $\left.V_{n}(\lambda)\right)$. Let $n \in \mathbb{N}_{0}$. Then we have

$$
\begin{equation*}
(n+1) V_{n+1}(\lambda)=\sum_{j=0}^{n} \sum_{k=0}^{j} V_{k}(\lambda) V_{j-k}(\lambda)\binom{-\frac{1}{2}}{n-j} \frac{8^{n-j} \lambda^{2 n-2 j+2}}{(1-\lambda)^{2 n-2 j+1}} \tag{3.1}
\end{equation*}
$$

Proof Assuming that $1-\lambda<0$. We modify Equation (1.4) as follows:

$$
\begin{equation*}
F_{v}(t, \lambda)=\frac{-4}{(1-\lambda)\left(1+\sqrt{1+\frac{8 \lambda^{2}}{(\lambda-1)^{2}} t}\right)}=\sum_{n=0}^{\infty} V_{n}(\lambda) t^{n} \tag{3.2}
\end{equation*}
$$

Taking partial derivative of the function $F_{v}(t, \lambda)$ with respect to $t$, we get the following equation:

$$
\frac{\partial}{\partial t}\left\{F_{v}(t, \lambda)\right\}=F_{v}\left(\frac{8 \lambda^{2}}{(\lambda-1)^{2}} t,-1 ; \lambda\right) F_{v}(t, \lambda) \frac{\lambda^{2}}{(1-\lambda)}
$$

By using the above equation, we obtain

$$
\sum_{n=1}^{\infty} n V_{n}(\lambda) t^{n-1}=\frac{\lambda^{2}}{1-\lambda} \sum_{n=0}^{\infty} \sum_{j=0}^{n} \sum_{k=0}^{j} V_{k}(\lambda) V_{j-k}(\lambda)\binom{-\frac{1}{2}}{n-j} \frac{8^{n-j} \lambda^{2 n-2 j}}{(\lambda-1)^{2 n-2 j}} t^{n}
$$

Comparing the coefficients of $t^{n}$ on both sides of the above equation, we get the desired result.
Substituting the following well-known identity

$$
\begin{equation*}
\binom{-\frac{1}{2}}{n}=\frac{(-1)^{n}(2 n)!}{(n!)^{2} 4^{n}} \tag{3.3}
\end{equation*}
$$

into (3.1), we arrive at the following corollary:
Corollary 3.2 Let $n \in \mathbb{N}_{0}$. Then we have

$$
V_{n+1}(\lambda)=\sum_{j=0}^{n} \sum_{k=0}^{j}(-2)^{n-j} C_{n-j} V_{k}(\lambda) V_{j-k}(\lambda) \frac{(n-j+1) \lambda^{2 n-2 j+2}}{(n+1)(\lambda-1)^{2 n-2 j+1}}
$$

Theorem 3.3 Let $n \in \mathbb{N}_{0}$. Then we have

$$
\frac{d}{d \lambda}\left\{V_{n}(\lambda)\right\}+\sum_{k=0}^{n}(-1)^{k} \frac{2^{k} \lambda^{2 k}(2 k)!V_{n-k}(\lambda)}{(\lambda-1)^{2 k+1}(k!)^{2}}+\frac{2}{\lambda} V_{n}(\lambda)=(-1)^{n} \frac{2^{n+2}(2 n)!\lambda^{2 n-1}}{(\lambda-1)^{2 n+1}(n!)^{2}}
$$

Proof Assuming that $\lambda-1>0$. Taking partial derivative of the function $F_{v}(t, \lambda)$ with respect to $\lambda$, we get the following equation:

$$
\frac{\partial}{\partial \lambda}\left\{F_{v}(t, \lambda)\right\}+\frac{F_{v}(t, \lambda)}{(\lambda-1) \sqrt{1+8 t\left(\frac{\lambda}{\lambda-1}\right)^{2}}}+\frac{2}{\lambda} F_{v}(t, \lambda)=\frac{4}{\lambda(\lambda-1) \sqrt{1+8 t\left(\frac{\lambda}{\lambda-1}\right)^{2}}}
$$

By applying binomial series representation in the above equation yields

$$
\sum_{n=0}^{\infty} \frac{d}{d \lambda}\left\{V_{n}(\lambda)\right\} t^{n}+\sum_{n=0}^{\infty} \sum_{k=0}^{n}\binom{\frac{-1}{2}}{k} \frac{8^{k} \lambda^{2 k} V_{n-k}(\lambda)}{(\lambda-1)^{2 k+1}} t^{n}+\frac{2}{\lambda} \sum_{n=0}^{\infty} V_{n}(\lambda) t^{n}=4 \sum_{n=0}^{\infty}\binom{\frac{-1}{2}}{n} \frac{8^{n} \lambda^{2 n-1}}{(\lambda-1)^{2 n+1}} t^{n}
$$

Comparing the coefficients of $t^{n}$ on both sides of the above equation, we get

$$
\frac{d}{d \lambda}\left\{V_{n}(\lambda)\right\}+\sum_{k=0}^{n}\binom{\frac{-1}{2}}{k} \frac{8^{k} \lambda^{2 k} V_{n-k}(\lambda)}{(\lambda-1)^{2 k+1}}+\frac{2}{\lambda} V_{n}(\lambda)=\frac{8^{n} 4}{\lambda(\lambda-1)}\binom{\frac{-1}{2}}{n}\left(\frac{\lambda}{\lambda-1}\right)^{2 n} .
$$

Substituting (3.3) into the above equation, we get the desired result.

## 4. Identities and combinatorial sums derive from $p$-adic Volkenborn integral

The $p$-adic Volkenborn integral (or the $p$-adic bosonic integral) has many applications in mathematics and mathematical physics. It is known that this integral has been used $p$-adic mathematical analysis and quantum physicists. Therefore, by applying this integral to uniformly differential function on $\mathbb{Z}_{p}$, generating functions for the Bernoulli-type numbers and polynomials and other special numbers and polynomials can be constructed [13], see also $[7,11,12,27,28,31]$. In 2007, Kim [13] defined the fermionic integral on $\mathbb{Z}_{p}$. By using these integrals, he gave many new formulas and relations involving the Changhee numbers and polynomials, the Daehee numbers and polynomials, the Catalan-Daehee polynomials, and other special numbers and polynomials. These integrals are also used to give generating functions for certain families of the special numbers and polynomials.

## 4.1. $p$-adic Volkenborn integral represantations for special polynomials and numbers

Let $\mathbb{Z}_{p}$ be the set of $p$-adic integers. Let $u \in \mathbb{Z}_{p}$ and $\ell(u)$ be a uniformly differential function on $\mathbb{Z}_{p}$. The Volkenborn integral (or bosonic integral) of the function $\ell(u)$ is given by

$$
\begin{equation*}
\int_{\mathbb{Z}_{p}} \ell(u) d \mu_{1}(u)=\lim _{M \rightarrow \infty} \frac{1}{p^{M}} \sum_{d=0}^{p^{M}-1} \ell(d) \tag{4.1}
\end{equation*}
$$

where $p$ is a prime number and

$$
\mu_{1}(u)=\frac{1}{p^{M}}
$$

[11, 27, 28, 31].
By applying (4.1) to the function $\ell(u)=(u+a)^{v}$ with $v \in \mathbb{N}_{0}=\mathbb{N} \cup\{0\}$ and $u, a \in \mathbb{Z}_{p}$, we have the following $p$-adic bosonic integral representations for the Bernoulli polynomials, $B_{v}(a)$, and the Bernoulli numbers, $B_{v}$, respectively

$$
\begin{equation*}
B_{v}(a)=\int_{\mathbb{Z}_{p}}(a+u)^{v} d \mu_{1}(u) \tag{4.2}
\end{equation*}
$$

and

$$
\begin{equation*}
B_{v}:=B_{v}(0)=\int_{\mathbb{Z}_{p}} u^{v} d \mu_{1}(u) \tag{4.3}
\end{equation*}
$$

(see [27], and also [11, 12, 28]).
By applying (4.1) to the function $\ell(u)=u_{(v)}$ with $v \in \mathbb{N}_{0}=\mathbb{N} \cup\{0\}$ and $u \in \mathbb{Z}_{p}$, Kim et al. [7] gave the following $p$-adic bosonic integral representation for the Daehee numbers $D_{v}$,

$$
\begin{equation*}
D_{v}=\int_{\mathbb{Z}_{p}} u_{(v)} d \mu_{1}(u) \tag{4.4}
\end{equation*}
$$

where

$$
D_{v}=\frac{(-1)^{v} v!}{v+1}
$$

We also have

$$
\begin{equation*}
\int_{\mathbb{Z}_{p}} u_{(v)} d \mu_{1}(u)=\sum_{d=0}^{v} S_{1}(v, d) B_{d} \tag{4.5}
\end{equation*}
$$

and

$$
\begin{equation*}
\int_{\mathbb{Z}_{p}} u_{(v)} d \mu_{1}(u)=\frac{(-1)^{v} v!}{v+1} \tag{4.6}
\end{equation*}
$$

$[4,7,27,28]$.
4.2. Formulas and combinatorial sums derive from $p$-adic integrals of Catalan-type polynomials Here, using $p$-adic integrals representations of Catalan-type polynomials and the polynomials $\ell(u)=u_{(v)}$, we give some novel formulas and combinatorial sums involving the Bernoulli, and Euler numbers and polynomials, the Stirling numbers, and the Catalan-type numbers.

Substituting $x$ with $u+v$ (1.5), we obtain

$$
\begin{equation*}
V_{n}(u+v ; \lambda)=\sum_{k=0}^{n}\binom{\frac{u}{2}}{k} V_{n-k}(v ; \lambda) \tag{4.7}
\end{equation*}
$$

and

$$
\begin{equation*}
V_{n}(u+v ; \lambda)=\sum_{k=0}^{n}\binom{\frac{u+v}{2}}{k} V_{n-k}(\lambda) \tag{4.8}
\end{equation*}
$$

Combining the well-known Chu-Vandermonde identity with the above equation, we get

$$
\begin{equation*}
V_{n}(u+v ; \lambda)=\sum_{k=0}^{n} \sum_{j=0}^{k}\binom{\frac{u}{2}}{j}\binom{\frac{v}{2}}{k-j} V_{n-k}(\lambda) \tag{4.9}
\end{equation*}
$$

By applying (4.1) with respect to $u$ and $v$ to Equations (4.7), (4.8), and (4.9), we obtain

$$
\begin{align*}
& \int_{\mathbb{Z}_{p}} \int_{\mathbb{Z}_{p}} V_{a}(u+v ; \lambda) d \mu_{1}(u) d \mu_{1}(v)=\sum_{k=0}^{a} \int_{\mathbb{Z}_{p}} V_{a-k}(v ; \lambda) d \mu_{1}(v) \int_{\mathbb{Z}_{p}}\binom{\frac{u}{2}}{k} d \mu_{1}(u), \\
& \int_{\mathbb{Z}_{p}} \int_{\mathbb{Z}_{p}} V_{a}(u+v ; \lambda) d \mu_{1}(u) d \mu_{1}(v)=\sum_{k=0}^{a} V_{a-k}(\lambda) \int_{\mathbb{Z}_{p}} \int_{\mathbb{Z}_{p}}\binom{\frac{u+v}{2}}{k} d \mu_{1}(u) d \mu_{1}(v) \tag{4.10}
\end{align*}
$$

and

$$
\int_{\mathbb{Z}_{p}} \int_{\mathbb{Z}_{p}} V_{a}(u+v ; \lambda) d \mu_{1}(u) d \mu_{1}(v)=\sum_{k=0}^{a} \sum_{j=0}^{k} V_{a-k}(\lambda) \int_{\mathbb{Z}_{p}}\binom{\frac{u}{2}}{j} d \mu_{1}(u) \int_{\mathbb{Z}_{p}}\binom{\frac{v}{2}}{k-j} d \mu_{1}(v),
$$

where $a \in \mathbb{N}_{0}$. Combining the above $p$-adic integrals of the polynomials $V_{a}(x ; \lambda)$ with

$$
\begin{gathered}
d_{a}=\frac{(-1)^{a} 4^{a}}{a!} \int_{\mathbb{Z}_{p}}\left(\frac{u}{2}\right)_{(a)} d \mu_{1}(u) \\
\int_{\mathbb{Z}_{p}}\left(\frac{u}{2}\right)_{(a)} d \mu_{1}(u)=\sum_{k=0}^{a} \frac{S_{1}(a, k) B_{k}}{2^{k}}
\end{gathered}
$$

([4], see also [19, theorem 5.4]) and the following formula, which was proven by Kucukoglu et al. [19, theorem 5.4]:

$$
\int_{\mathbb{Z}_{p}} V_{a}(u ; \lambda) d \mu_{1}(u)=\sum_{j=0}^{a} \sum_{c=0}^{j} \frac{V_{a-j}(\lambda) S_{1}(j, c) B_{c}}{j!2^{c}}
$$

where $a \in \mathbb{N}_{0}$, we obtain the following interesting formulas:

$$
\begin{gathered}
\int_{\mathbb{Z}_{p}} \int_{\mathbb{Z}_{p}} V_{a}(u+v ; \lambda) d \mu_{1}(u) d \mu_{1}(v)=\sum_{k=0}^{a} \sum_{j=0}^{a-k} \sum_{c=0}^{j} \sum_{s=0}^{k} \frac{B_{c} B_{s} V_{a-k-j}(\lambda) S_{1}(j, c) S_{1}(k, s)}{j!k!2^{c+s}}, \\
\int_{\mathbb{Z}_{p}} \int_{\mathbb{Z}_{p}} V_{a}(u+v ; \lambda) d \mu_{1}(u) d \mu_{1}(v)=\sum_{k=0}^{a} \sum_{j=0}^{a-k} \sum_{c=0}^{j}(-1)^{k} \frac{d_{k} B_{c} V_{a-k-j}(\lambda) S_{1}(j, c)}{j!2^{c+2 k}}, \\
\int_{\mathbb{Z}_{p}} \int_{\mathbb{Z}_{p}} V_{a}(u+v ; \lambda) d \mu_{1}(u) d \mu_{1}(v)=\sum_{k=0}^{a} \sum_{j=0}^{k}(-1)^{k} \frac{d_{j} d_{k-j} V_{a-k}(\lambda)}{4^{k}}
\end{gathered}
$$

and

$$
\int_{\mathbb{Z}_{p}} \int_{\mathbb{Z}_{p}} V_{a}(u+v ; \lambda) d \mu_{1}(u) d \mu_{1}(v)=\sum_{k=0}^{a} \sum_{j=0}^{k} \sum_{s=0}^{j} \sum_{m=0}^{k-j}\binom{k}{j} \frac{V_{a-k}(\lambda) S_{1}(j, s) S_{1}(k-j, m) B_{s} B_{m}}{k!2^{s+m}} .
$$

Combining (4.10) with the following formula

$$
\binom{\frac{u+v}{2}}{k}=\frac{1}{k!} \sum_{s=0}^{k} \frac{S_{1}(k, s)}{2^{s}} \sum_{m=0}^{s}\binom{s}{m} u^{m} v^{s-m}
$$

and using (4.3), we obtain

$$
\int_{\mathbb{Z}_{p}} \int_{\mathbb{Z}_{p}} V_{a}(u+v ; \lambda) d \mu_{1}(u) d \mu_{1}(v)=\sum_{k=0}^{a} \sum_{s=0}^{k} \sum_{m=0}^{s}\binom{s}{m} \frac{B_{m} B_{s-m} V_{a-k}(\lambda) S_{1}(k, s)}{2^{s} k!} .
$$

By combining the right-hand sides of the above equation, we arrive at the following theorems, respectively:

Theorem 4.1 Let $a \in \mathbb{N}_{0}$. Then we have

$$
\begin{aligned}
& \sum_{k=0}^{a} \sum_{s=0}^{k} \sum_{m=0}^{s}\binom{s}{m} \frac{B_{m} B_{s-m} V_{a-k}(\lambda) S_{1}(k, s)}{2^{s} k!} \\
= & \sum_{k=0}^{a} \sum_{j=0}^{k} \sum_{s=0}^{j} \sum_{m=0}^{k-j}\binom{k}{j} \frac{V_{a-k}(\lambda) S_{1}(j, s) S_{1}(k-j, m) B_{s} B_{m}}{k!2^{s+m}} .
\end{aligned}
$$

Theorem 4.2 Let $a \in \mathbb{N}_{0}$. Then we have

$$
\sum_{k=0}^{a} \sum_{s=0}^{k} \sum_{m=0}^{s}\binom{s}{m} \frac{B_{m} B_{s-m} V_{a-k}(\lambda) S_{1}(k, s)}{2^{s} k!}=\sum_{k=0}^{a} \sum_{j=0}^{k}(-1)^{k} \frac{d_{j} d_{k-j} V_{a-k}(\lambda)}{4^{k}}
$$

Theorem 4.3 Let $a \in \mathbb{N}_{0}$. Then we have

$$
\sum_{k=0}^{a} \sum_{s=0}^{k} \sum_{m=0}^{s}\binom{s}{m} \frac{B_{m} B_{s-m} V_{a-k}(\lambda) S_{1}(k, s)}{2^{s} k!}=\sum_{k=0}^{a} \sum_{j=0}^{a-k} \sum_{c=0}^{j}(-1)^{k} \frac{d_{k} B_{c} V_{a-k-j}(\lambda) S_{1}(j, c)}{j!2^{c+2 k}} .
$$

Theorem 4.4 Let $a \in \mathbb{N}_{0}$. Then we have

$$
\begin{aligned}
& \sum_{k=0}^{a} \sum_{s=0}^{k} \sum_{m=0}^{s}\binom{s}{m} \frac{B_{m} B_{s-m} V_{a-k}(\lambda) S_{1}(k, s)}{2^{s} k!} \\
= & \sum_{k=0}^{a} \sum_{j=0}^{a-k} \sum_{c=0}^{j} \sum_{s=0}^{k} \frac{B_{c} B_{s} V_{a-k-j}(\lambda) S_{1}(j, c) S_{1}(k, s)}{j!k!2^{c+s}} .
\end{aligned}
$$

## Acknowledgment

We sincerely thank the referees for their valuable reports on the present paper.

## References

[1] Amdeberhan T, Guan X, Jiu L, Moll VH, Vignat C. A series involving Catalan numbers: Proofs and demonstrations. Elemente Der Mathematik 2016; 71: 1-13.
[2] Boros G, Moll V. Irresistible Integrals: Symbolics, Analysis and Experiments in the Evaluation of Integrals. Cambridge, New York: Cambridge Universty Press, 2004.
[3] Conway JH, Guy RK. In the Book of Numbers. New York: Springer-Verlag, 1996.
[4] Dolgy DV, Jang GW, Kim DS, Kim T. Explicit expressions for Catalan-Daehee numbers. Proceedings of the Jangjeon Mathematical Society 2017; 20 (1): 1-9. http://dx.doi.org/10.23001/pjms2017.20.1.1
[5] Edgar GA, Hensley D, West DB. Problems and solutions. American Mathematical Monthly 2016; 123 (4): 399-406. https://doi.org/10.4169/amer.math.monthly.123.4.399
[6] Gun D, Simsek Y. Some new identities and inequalities for Bernoulli polynomials and numbers of higher order related to the Stirling and Catalan numbers. Revista de la Real Academia de Ciencias Exactas, Físicas y Naturales. Serie A. Matemáticas RACSAM 2020; 114 (167): 1-12. https://doi.org/10.1007/s13398-020-00899-z
[7] Kim DS, Kim T. Daehee numbers and polynomials. Applied Mathematical Sciences 2013; 7 (120): 5969-5976. http://dx.doi.org/10.12988/ams.2013.39535
[8] Kim DS, Kim T. A new approach to Catalan numbers using differential equations. Russian Journal of Mathematical Physics 2017; 24 (4): 465-475. https://doi.org/10.1134/S1061920817040057
[9] Kim DS, Kim T. A note on a new type of degenerate Bernoulli numbers. Russian Journal of Mathematical Physics 2020; 27 (2): 227-235. https://doi.org/10.1134/S1061920820020090
[10] Kim MS. On Euler numbers, polynomials and related p-adic integrals. Journal of Number Theory 2009; 129 (9): 2166-2179. https://doi.org/10.1016/j.jnt.2008.11.004
[11] Kim T. $q$-Volkenborn integration. Russian Journal of Mathematical Physics 2002; 19: 288-299.
[12] Kim T. $q$-Euler numbers and polynomials associated with $p$-adic $q$-integral and basic $q$-zeta function. Trends Mathematics (Information Center for Mathematical Sciences) 2006; 9: 7-12.
[13] Kim T. $q$-Euler numbers and polynomials associated with $p$-adic $q$-integrals. Journal of Nonlinear Mathematical Physics 2007; 14 (1): 15-27. https://doi.org/10.2991/jnmp.2007.14.1.3
[14] Kim T. A note on Catalan numbers associated with $p$-adic integral on $\mathbb{Z} p$. Proceedings of the Jangjeon Mathematical Society 2016; 19 (3): 493-501.
[15] Kim T, Kim DS. Some identities of Catalan-Daehee polynomials arising from umbral calculus. Applied and Computational Mathematics 2017; 16 (2): 177-189.
[16] Kim T, Kim DS. On some degenerate differential and degenerate difference operators. Russian Journal of Mathematical Physics 2022; 29 (1): 37-46. https://doi.org/10.1134/S1061920822010046
[17] Kim T, Kim DS. Degenerate Whitney numbers of first and second kind of Dowling lattices. Russian Journal of Mathematical Physics 2022; 29 (3): 358-377. https://doi.org/10.1134/S1061920822030050
[18] Kucukoglu I, Simsek Y. Identities and relations on the $q$-Apostol type Frobenius-Euler numbers and polynomials. Journal of the Korean Mathematical Society 2019; 56 (1): 265-284. https://doi.org/10.4134/JKMS.j180185
[19] Kucukoglu I, Simsek Y. Computational identities for extensions of some families of special numbers and polynomials. Turkish Journal of Mathematics 2021; 45: 2341-2365. https://doi.org/10.3906/mat-2101-83
[20] Kucukoglu I, Simsek Y. Formulas and combinatorial identities for Catalan-type numbers and polynomials: Their analysis with computational algorithms. Applied and Computational Mathematics 2022; 21 (2): 158-177.
[21] Kucukoglu I, Simsek B, Simsek Y. New classes of Catalan-type numbers and polynomials with their applications related to $p$-adic integrals and computational algorithms. Turkish Journal of Mathematics 2020; 44: 2337-2355. https://doi.org/10.3906/mat-2008-24
[22] Koshy T. Catalan Numbers with Applications. New York: Oxford University Press, 2009.
[23] Ma Y, Kim T, Kim DS, Lee H. A study on $q$-analogues of Catalan-Daehee numbers and polynomials. Filomat 2022; 36 (5): 1499-1506. https://doi.org/10.2298/FIL2205499M
[24] Rainville ED. Special Functions. New York: The Macmillan Company, 1960.
[25] Roman S. The Umbral Calculus. New York: Dover Publications, 2005.
[26] Roman S. An Introduction to Catalan Numbers. Birkhauser, 2015.
[27] Schikhof WH. Ultrametric Calculus: An Introduction to $p$-adic Analysis. Cambridge Studies in Advanced Mathematics 4, Cambridge: Cambridge University Press, 1984.
[28] Simsek Y. Explicit formulas for $p$-adic integrals: approach to $p$-adic distribution and some families of special numbers and polynomials. Montes Taurus Journal of Pure and Applied Mathematics 2019; 1 (1): 1-76.
[29] Srivastava HM, Choi J. Zeta and $q$-Zeta Functions and Associated Series and Integrals. Amsterdam, London and New York: Elsevier Science Publishers, 2012.
[30] Stanley RP. Catalan Numbers. New York: Cambridge University Press, 2015.
[31] Volkenborn A. On generalized p-adic integration. Mémoires de la S. M. F., tome 1974; 39-40: 375-384.


[^0]:    *Correspondence: ysimsek@akdeniz.edu.tr
    2010 AMS Mathematics Subject Classification: 11S80, 11B68, 05A15, 05A19, 26C05, 12D10.

